Лист самоконтролю
1. 900-150=750       170 + 410=580
    780 – 260=520     360 – 250=110
Задача № 607
1.110-60=50(д.)-було ялин.
2.960-(110+50)=800(д.)
Відповідь: залишилось 800 дерев. 
* Задача
1).40 -15=25(л.)- було лип.
2).25-15=10(л.)
Відповідь:на 10 лип було більше. 

             Самостійна робота
1. 900-150=       170 + 410=
    780 – 260=     360 – 250=
2. Задача № 607
3.*Склади задачу та розв’яжи її:
 15 дубів
[image: image1.png]



 ? лип                           ?                40 дерев
[image: image2.png]



